Terrasse: (1,6 x 4,8) x 0,5 = 3,84 m?

78,86 m?

Keller 68: 2,03 x 2,80 = 5,23 m?

Geschol: 3.0G
Wohnung: 69 2 Zimmer
Wohnen: 4,01 x 5,265 = 21,11 m?
Schlafen: 3,83 x 3,765 = 14,42 m?
Bad: 2,01 x 2,51 = 5,06 m?
Kiche: 2,01 x 2,51 = 5,05 m?
Flur: 1,14 x 4,31 = 4,91 m?
g Terrasse: 1,5 x 28 x 05 = 1,88 m?
52,42 m?

Kelier 69t 1,64 x 3,00 = 4,92 m?

GeschoB: 3.0G
Wohnung: 70 1 Zimmer
wohnen/Schiafen: T (2,95 x 2,375) + (4,01 x 4,25) = 24,056 m?
Bad: 1,95 x 2,51 = 4,90 m?
@ Kiche: 301 x 2,26 = 6,80 m?
Flur: 2,126 x 1,51 = 3,21 m?
Terrasse: 1,5 x 2,5 x05 = 1,88 m?
40,84 m?
Keller 70: 1,64 x 2,825 = 4,63 m?

Geschol3: 3. 0G
Wohnung: 71 1 Zimmer
Wohnen/Schlafen: ' (3,825 x 4,1358) + (2,765 x 2,378) = 22,38 m?

Bad: 1,956 x 2,51 = 4,90 m?




